PREAERDEIEFER

MEER B o4
EESBIR R ZAE
ERk24%E 7H11H FER24%E10H15H
HIE & iR | REHRE (G | EHRE (th | IRESHRE (| ISHRE Gt | IGHRE G | IREHRE G | HE
F5cm) F50cm) £F100cm) F5cm) F50cm) F100cm)
[u Sv/h] [y Sv/h] [u Sv/h] [u Sv/h] [u Sv/h] [u Sv/h]
A 1 =z 0.27 0.19 0.17 0.07 0.07 0.09
A 2 = 0.19 0.17 0.16
B 3 = 0.24 0.14 0.14 0.11 0.10 0.09
B 4 EE 0.07 0.06 0.08
B 5 3 0.17 0.17 0.15
B 6 =z 0.24 0.14 0.14 0.09 0.10 0.10
B 7 & 0.17 0.16 0.17
C 8 = 0.23 0.18 0.15 0.13 0.09 0.10
C 9 EL 0.07 0.08 0.08
C 10 ()L 0.10 0.11 0.11
C 11 =z 0.22 0.21 0.19
C 12 = 0.22 0.19 0.17
C 13 =z 0.18 0.17 0.15
C 14 + 0.13 0.15 0.16
C 15 =z 0.23 0.19 0.18 0.10 0.11 0.10
C 16 = 0.20 0.19 0.18
D 17 = 0.16 0.14 0.12
D 18 BL 0.18 0.13 0.12
D 19 Bt 0.21 0.15 0.13
D 20 = 0.24 0.16 0.15 0.12 0.11 0.10
D 21 = 0.25 0.22 0.20 0.08 0.10 0.09
D 22 T 0.10 0.13 0.16
D 23 T 0.11 0.11 0.12
D 24 T 0.13 0.10 0.12
D 25 = 0.31 0.23 0.20 0.08 0.10 0.10
D 26 + 0.17 0.16 0.16
D 27 = 0.22 0.15 0.15
D 28 = 0.23 0.18 0.16 0.08 0.09 0.10
E 29 = 0.22 0.22 0.17
E 30 BL 0.20 0.17 0.14
E 31 Bt 0.20 0.13 0.13
E 32 A—0w3E] 0.11 0.12 0.13
E 33 =z 0.25 0.20 0.19 0.09 0.08 0.08
E 34 T 0.12 0.11 0.11
E 35 T 0.12 0.12 0.12
E 36 T 0.09 0.11 0.10
E 37 T 0.14 0.12 0.13
E 38 = 0.19 0.19 0.19
E 39 + 0.25 0.21 0.18 0.13 0.13 0.14
E 40 T 0.18 0.16 0.15
E 41 T 0.17 0.15 0.16
F 42 ] 0.20 0.19 0.18
F 43 =i 0.19 0.13 0.14
F 44 BL 0.19 0.19 0.16
F 45 co 0.14 0.11 0.10
F 46 =z 0.26 0.17 0.17 0.09 0.10 0.10
F 47 + 0.12 0.13 0.13
F 48 T 0.14 0.13 0.14
F 49 T 0.13 0.12 0.13
F 50 T 0.15 0.14 0.14
F 51 T 0.16 0.16 0.17
F 52 & 0.19 0.19 0.19
F 53 + 0.19 0.19 0.16
F 54 & 0.17 0.15 0.15
G 55 = 0.12 0.14 0.14
G 56 Bt 0.20 0.15 0.13
G 57 AL 0.09 0.09 0.09
G 58 AS 0.09 0.10 0.10
G 59 15 0.17 0.17 0.17
G 60 T 0.25 0.20 0.19 0.20 0.19 0.17
G 61 T 0.15 0.16 0.17
G 62 T 0.27 0.24 0.20 0.14 0.14 0.13
G 63 =z 0.28 0.22 0.21 0.10 0.10 0.10
G 64 + 0.21 0.18 0.17
G 65 = 0.22 0.16 0.16
G 66 3 0.19 0.16 0.15
H 67 AS 0.26 0.17 0.14 0.17 0.13 0.11
H 68 EL 0.20 0.17 0.14
H 69 B 0.20 0.13 0.11
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B2 BiALE BEEAE
Erk24% 7H11H ERL24%E10H15H
HIE = WR | REHRE Gt | REHRE (b | ISHEE (G | IRGHRE G | IEHRE (b | IEHRE G | HE

E5cm) £50cm) £100cm) E5cm) £50cm) _£100cm)

[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]
H 70 AS 0.12 0.09 0.09
H 71 AS 0.10 0.12 0.14
H 72 AS 0.10 0.11 0.12
H 73 AS 0.10 0.11 0.11
H 74 AS 0.10 0.11 0.12
H 75 AS 0.11 0.13 0.12
[ 76 T 0.27 0.21 0.19 0.17 0.15 0.14
I 77 AS 0.13 0.12 0.11
I 78 AS 0.14 0.11 0.10
I 79 AS 0.14 0.11 0.10
<BEOHE> RIOKBE-BL BWEOBMOANBA UFE - SKMEOER. ZESTHBEVORE. RE-ZEDFENY.,

HEDOHEDFMNS, JBRFZEITEYEAEERIRLTITLVEL .

<SHOXE> BEREOEHNLE=F)UT7E2TV. BEELZBBLIEMARRINIIES (X, RMEF EEREL

LTBREZTVLET,
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